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Sig. of Candidate. Sig. of Invigilator.

ART AND MODEL DRAWING SSC-I
SECTION - A (Marks 07)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

{n Which of the foliowings are cool colours?
A Blue. Green and Violet B Yellow,Orange and Red
C. Black, White and Grey D None of these
{in Which of the following is a secondary colour?
A Blue B. Black
C Red D Green
(iin Forming elements are the basic elements of:
A Calligraphy B Art
C. Culture D. Poetry
(iv) How much away is Mohenjodare from Dokari station?
A 20 kilometres B. 30 kilometres
C 10 kilometres D. 15 kilometres
(V) Dancing girl was made of:
A, Ciay B. fron
C. Bronze D. Copper
{vi) The religion of the Gandhara's people was:
A Islam B. Hinduism
C Christianity D. Buddhism

(vii) The usage of brick to build house first time in Gandhara area started in:

A 4th Century BC B 3rd Century BC

C 5th Century BC D. 5th Century BC

For Examiner’s use only:
Total Marks: | 07
Marks Obtained: ’ }
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ART AND MODEL DRAWING SSC-I

Time allowed: 2:10 Hours Total Marks Sections B and C: 28

NOTE: Answer any six parts from Section ‘B’ and any one guestion from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 18)

Q.2 Attempt any SIX parts. The answer to each part should not exceed 3 to 4 lines. {6x3=18)
0 Write a short note on colour.
(i) Define neutral colours,
(W) Write a short note on Ratio.
(iv) What do you know about Perspective?
{(v) What do you know about Toys found from the indus Valley?
{vi) Write a short note on Pond which was found in Mohenjodaro
{vil) Write a short note on bricks found frem Indus Valley
(vili)  Write about the rote of King Ashoka in Gandhara art.
{ix) Which material was used in Gandhara art?
(X} What do you know about the use of lime in Gandhara architecture?
{XI) What do you mean by Stupa” Define it
SECTION — C {Marks 10)
Note: Attempt any ONE question. All questions carry equal marks. {1x10=10)
Q.3 Wirite a detailed note on Harappa
Q.4 How was the town of Mohenjodaro planned?
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Roll No. : | | | Answer Sheet No.

Sig. of Candidate. Sig. of Invigilator.

CIVICS SSC-I
SECTION - A (Marks 15)

Time allowed: 20 Minutes
NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 GCircle the correct option i.e. A/ B/ C [ D. Each part carries one mark.

{1 The word civics is derived from which language”

A, Greek B. French C. Latin D. English
(i Who said. "Economics is the science of wealth and earning of wealth"?

A Plato B. Hege! C Karl Marx D Marshal
{1 The first schoot of a child is:

A Family B Mosgue C Friend D. Society
(iv) The scale of supericrity in Islam is:

A Territory B. Race C Piety D. Nationality
(V) The basis of Two Nation Theory is:

A Language B Territory C. Patriotism 0. Islamic Ideology
{(vi) By nature how a human being wants to live?

A In isolation B in society C In forest D In sadness

(Vi) Government institutions release news and reports through.

A. Advertisements B. Conferences

C. Web site D. Schools
ny Media does not provide:

A information B. Citizenship C Entertainment D. National Solidarity
{1x} The highest and final court in Britain 1s

A Hereditary Lords B. Law Lords

C. Spiritual Peers 0. Royal Peers
{x) In which country the principle of Judicial review is practiced?

A America B Britain C. France D. Germany
(xi) it is not included in the functions of an Islamic state:

A Country's Defense B. Establishment of Justice

C. Un Employment D. Provision of Education

{x1i) How many kinds of citizens are in an Islamic State?

A Two B. Three C. Four D. Five
{xiu) Generaliy a citizen means a person who lives in:

A Rural area B. City area C. Neighborhood D. Street Fellow
(xiv) In which year the present constitution of Pakistan was made?

A 1956 AD B 1962 AD C 1973 AD D. 1985 AD
(xv} Which country has been the victim of racial discrimination?

A Pakistan B Afghanistan C. Libya D. Scuth Africa

For Examiner’s use only.

Total Marks: | 15
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—— 1SA 1717-—~ :

S




Roli No.

Sig. of Candidate:

Answer Sheet No.

Sig. of Invigilator:

I- o o) uuf).w

(15 4) it

<420

-
wd

+ a1

e b Ji 6 e o wsend@ s Skl L AL S e gt S LS e g g il S iR

by

::‘b‘”

G

P

<1985

-4.;&.9(;'@-;{6 87l :/IZ__A:’.W»LU.‘- e 1 ﬁ J;UJl.’:C%:

il

u’J/ b J/ K

{:
b3
-

[

.
L

] -
u}‘u.—v,.:)?

.
~ B
ot b

+1973

i 55

[
Y

i
(‘\\

L
=& v,
-z e

-G u’:s’;bﬂ

L e T
(4;‘”_ .L?L:'_.BLSJIL;J@/L,KU’V

(}t{' i

—

" e .
; £ g ) R )
W Al nl e be

d}bw' .l

-
etraliESE
- oy _ A
.f_/.lfvb/.:ﬂg"’ E‘.'(LL»'
- Sk L
{_J?Q: A3 Sy
—— b el

-

AN OOV

S AR

— —

w a4 : L “a
?u:;‘,//ui/{_u b A2 e e I

- S
- B
~C =i

2 RPAREL

s

|

G

5,
|3
~

- PUE L

{
G
=,

o +1962

rrrrrrr Y- PR g—

.‘J

J-‘.
—— Cpves -
3 e oAl
nUE N e LU

e LAl

p—

{ LAT s .
R TS VARG S P s Yol 4

A
Ce Gt UK de BT e
— )

e u:(J'L:;ufJﬂ*)L\_"/’PJl}-"I

Cb‘:d’i

s 3
— ydiitra
o~
eyl

-

= —

eur d;{(lﬁl(f‘d’u;_f_ﬁiu':y}_/du’l

X _ah

-

-~

(

C Lozl l; SEUL e Sy 4'}1"1‘ "

—— wders ol
?gr.t_ ke Q"u"uf Tassrs {UL"/f/;L,'
~odl

‘LB LE LS

<1956

ey -l

:I/;Uly

(i)

(i1

(i)

(iv)

(vi)

(vif)

(viii)

(%)

{x)

(xi)

(xii)

(xiif)

(xv)




CIVICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 36)
Q.2 Attempt any TWELVE parts. The answer to each part should not exceed 3 to 4 lines. (12x3=36)

(i) Write down the definition of civics by E.M. White.

{ii) How civics plays a role in the fulfilment of financial needs of an individual?
(1) Highlight the difference between civics and sociology.

{iv) What is meant by family?

(v) What is called urban community?

(vi) What is the difference between nation and nationality?

{vii) Write down the names of essential elemenis of state.

(viii) Explain the right of Freedom of Speech in an Islamic State.

(ix) How media influences the public opinion?

(%) What is called the veto power?

(xi) What is the opinion of Allama lgbal about Democracy?

(xii) What is meant by Dictatorship?

(xiily  Write down the definition of citizenship.

(xiv)  Write down the importance of education for becoming a good citizen.
(%v) What rights were given to a Zimmi in the state of Medina?

(xvi)  Explain the Political Rights.

(xvii)  Explain the right of security to Private Life in an Islamic State.

(xvili)  What is meant by the viclation of Human Rights?

SECTION - C {(Marks 24}
Note: Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

Q.3 Define civics and describe its significance.
Q.4 Define [slamic State and describe its important Functions.
Q.5 Whatis meant by Good Governance? Describe the concept of a Welfare State.

Q.6  Define Rights and describe the Soctal Rights of citizens.
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Answer Sheet No.

Sig. of Invigilator.

.................................................................................................

SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself,
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

1 )
(N ; in term of percentage is:
A 33% B. 20% C. 35% D. 331%
(i) In case the husband dies the share of the wife in the absence of child or agnatic is:
a1 B . c. o+ o !
3 2 4 8
i) A deduction offered on the marked up price or the list price of goods by the seller to the purchaser is
called:
A Profit B. Loss C. Tax D. Discount
(iv) In 1620 AD prepared a table for antilogarithm.
A Jobst Burgi B. John Napier  C. Al-Khawarzmi D. Plato
(v) The characteristic of 0.00283 is:
A. 3 B. 3 C. 4 D. 4
(vi) \/5 is number.
A Rational B. Irrational C. Natural D. Integers

(vii) Thirdterm of en=n+3is

A 3 B. 9 C. 6 D. 0
{viii) If A and B are disjoint sets then A B=?
A Bu A B. (AN BY C. ¢ D. (4w BY
{ix) Graphs of equations in the form of y =¢ have y cc-ordinate:
A 1 B. c C. 0 D. -1
(x) The score which oceurs most often in a set of data is called:
A Mode B. Median C. Mean D. Geometric mean
(x)  H=iscalled
A XHarmonic mean B. Mode
C. Mean D. Arithmetic mean

(xii) The tax charged on all the taxable income is called:

A Sales tax B. Direct tax C. Income tax D. Excise tax
(xiti) The periodic installment to be paid by the insured is called:

A Bonus B. Discount C. Premium D. Markup
(xiv)  The arithmetic mean of the data 4, 4, 4, 4, 4, is:

A 0 B. 16 C. 12 D. 4

(xv)  If R={(4,5).(5.4).(5.6).(6,4)} then the range="?

A. {4} B. {4,5.6} C. {6} D. {6,5}

For Examiner’'s use only:
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S¢
GENERAL MATHEMATICS SSC-

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any twelve parts from Section ‘B’ and any Four questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Graph paper and logarithm table will be provided on demand.

SECTION — B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=136)
(i} if 84% of a book consists of 420 pages. Find the total number of pages in the book.
(i) If ¢:h=2:3find the ratio G 2b.
{iii) Calculate the amount of Ushar on a rice crop of weight 3000 kg produced by artificial sources, If the price

of 40 kg rice is Rs. 2000.

(iv) If a television is purchased for Rs. 6590 and sold for Rs. 6850. Find the profit percentage.

{(v) A Pakistani employee in Saudi Arabia earns 3200 Riyals a month. He spends, 2500 Riyals a month.
Determine his annual saving in Rupees if 1 Riyal = Rs. 22.400.

{vi) If the simple profit on Rs. 640 for 12 years is Rs. 384. Find the rate of profit.

{vii) The price of a bicycle is Rs. 3500. If 16% sales tax is charged then calculate the amount of sales tax on

50 such bicycles.

I 1

(Viii) Simplify. (i.x_:‘}/‘? )» .(_1"3);’1 )_ 5

s ™\
[ HT ]

(ix) Prove that loy,| =log, m—log, n
N
(x) If 8 and 12 are two A Ms between a and b. Find a and b.

(i) If A= {1L70L1517.21 B=41117.19,23}C = {2,3.5] then find A (B C).

(xily I A=13.5.6}and B={1.3} then find .= Band £x 4 and write two binary refations.

{xiil) The total monthly incomes of 8 persons are Rs. 3000, Rs. 4000, Rs. 3500, Rs. 4500, Rs. 3800, Rs. 4200,
Rs. 3600 and Rs. 5400. Find their arithmetic mean.

(xiv)  Find the geometric mean for the following frequency distributions.

2 [ 3 4 !
I I
f 2 i3 4 1

i |

{xv) Find the harmonic mean of the following values 3,4 and 8.

(Xvi) Find the standard deviation for the values, 1, 2, 3, 4, 6, 8, 11

y o . N 2614 x10°
(xvii)  Simplify and write your answer in scientific notaticn. -——

X 1

10°
(xviii)  Solve the equation: log,(x+1)=2
SECTION — C (Marks 24)
Note: Attempt any FOUR questions. All questions carry equal marks. (4x6=24)

Q.3 A manager plans to produce 100 bicycles with the help of 25 persons, working four hours daily. How many
bicycles can be made by 40 persons if they work 3 hours daily?

Q.4 Three persons invested an amount of Rs. 3,000,000 in a business with shares ratio2:3: 7. They earned a profit
of Rs. 600,000. If they are interested to windup their business, what amount every share holder would get?

Q.5 The price of a car is 12,50,000 whereas the rate for premium is Rs. 4.5% for a tenure of 5 years. Calculate the

amount paid as insurance, while depreciation is 10% yearly.

9876 (16.42)
Q.6 Using logarithmic table evaluate the following: 0.9876x116-42)°

(4.567)
Q.7 U ={12345.12]4={23,4.67.89.10} and B=1{2,3,57.9; then verify De Morgan’s Law.

Q.8 Drawthe graphof y =3x+5
—— 1SA 1718 —
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